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RO % BB L.
a) 6x — (3x2 — (~2x2 4+ (4x2 = 6) —3) — Sx)

b) 9x2 —10x —4 — (4x —3)(2x%2 +5x — 1)

A=x2-3B=1-2x2,C=x3—x+10DEE, ROXEFEL L.
a) A-B-C =

b) C—(B+34) =

) A—(B—(C—A4) =

ROBLDAZFEE K.

a) —a?x (=b)’ = b) a x (a®>)? x (a3)3 =

¢) (x)*(=x*)(—y)’ = d) ab’(a*®—5b%) =
e) (—3a?b)3 x (=2ab3)? = f) Bx+4y)? =
g) Bx—4H(x—-1) = h) (5x + y)(x +5y) =

i) (a® 4+ ab + b?)(a? — ab + b?) j) (x%2 4+ 3xy —y?)(2x — 5y)

k) (@+b+c)a®+b?>+c?—bc—ca—ab) =

FHAES

RDOBERDENZLRT K.

a) (a+b)a*>—ab+b?) =a>+b3

¢) (x+y)?—(x—y)?=4xy

ROBR DR ZRYAEE K.
a) 3ab—6ac =

e) x2+x—6=

g) 3x2—18x +27 =

i) 25x2—4 =

K&

by R EDARELTEDE BT B EARE. ]
b) (a —b)(a® +ab + b?) = a® — b>

b)

d)

f)

h)

j)

)

2a2%b —ab? =

(a@a+b)x—(a+b)y=

x2—7x +10=

x2 —1lxy +24y% =

x>+ 8=

3x2-5x—-2=

[E=TH<]



(6] ROBFEZETTL, BERUERDEL. 12120, a BEKET S. O] a) x—1, x=2, x+1, x4+20>5x3-3x2 +4 DRFIB>TOBEDENR.

a) b)
x—2)x3—2x2+4x—8 2x2 4 3x + 1) 2x% 4 2x3 +x
b) x3—3x%2 +4 2#EBDBRE L.
B= FU = B= HU =
c) d)
2x2—x—1)x3 —x x2 +ax —2a%) x3 —2a2%x
BHERAEBOT x3 —4x? + x + 6 ERPNRE &.
2 _
"= &Y = A= &Y = E L DaBRE HF + HBOBERVEFELT,
x2-2 @) (®Y) . -1
7 f)=x-3x+1E75. I e
a) f(x)%& x — 2 TESICEEDRYZRDL. x—2)x3 —3x+1 DEDIC, BREDNFHINBLVEROABREDNDEICT B ENTES.
RONX%, BXEDFHDEIVERODEN EDHNDOFICE L.
5x +4
2) x—2
b) f(2) DEAESTEL, a) DIBRELWE L.
FROEBAEFNALT, f(x) = x> —x2 - 2x ERORTEI ST EEDRUERD K. 22 r i3
x2—x
a) x—1 b) x—3 b)2x—+1:

c) x+1 d) x+2
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